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Simplify and state the values which are not in the domain for each variable.

. —36:2—48: ___-;Z%% o2
18x° + 24x ,(ox 5}”5 = Y
Ox+1=0 R &
3x=-T SASS

x= -t
3

(p.D
* 2 3 ’a—l
H.Z'ﬁ‘— a a-l g&-?)(a-')
a T lta_| = a.(a.-D
a~ o- | o a-| A+ (-0 —
|




intalg-2012-10-18-08am-reviewfortest4.notebook October 18, 2012

o4 &Z 2
29a./ 2
(J{"JI' 25—7‘(’25+5>
3 25-1-3
(o )
S ¢ gl 20

(25 3 Zﬂ-rb

2+2y+3 =32y -s>
Ry +5=6y~9

1% =4y
Ty
Ey

crroe _ (x13)(x=2)

' 3x2—10x+8 3X"'W"‘ﬂ'x-‘—%
3x (x-2)—+(x-2)




intalg-2012-10-18-08am-reviewfortest4.notebook October 18, 2012

S D N SDICS)
A(x*=1) (1) N

:5:. - >x¢\\g

\t

Multiply or divide and simplify. State the values which a n the domain for
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Add or subtract and simplify. State the values which are not in the domain for each variable.
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Simplify and state the values which are not in the domain for each variable.
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Solve for x. Be sure to check your solutions to make sure they make sense!
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